
10 20 30 40 50 60 70 80 90

THIS DRAWING MAY ONLY BE ALTERED IF THE PART REMAINS
INTERCHANGEABLE. IF NOT INTERCHANGEABLE A NEW
DRAWING NUMBER MUST BE TAKEN.

DIMENSIONS IN MILLIMETERS.
REMOVE SHARP EDGES.
UNLESS OTHERWISE STATED TOLERANCES

TITLE

SIZE A3A3P

QUOTE LATEST ISSUE No.

No. 20150114

No. 20150114
QUOTE LATEST ISSUE No.

SHEET
1 OF 1

SHEET
1 OF 1

CHANGES

ISSUE ISSUE
No.

MOD.
No. DATE No. No.

MOD. DATE

MATERIAL

HEAT
TREATMENT

FINISH

DRAWN

APPROVED

ORIGINAL SCALE

CHECKED

DATE

DO NOT SCALE

PROJECTION

SUPERSEDES

SIMILAR TO

REF. DRG. No.

FIRST USED ON

CLASSIFICATION CODE No.

E

D

C

B

A

654321

legend.

whole or in part), used for manufacture or other-
wise disclosed without prior written consent of the
company.  Any copies of this drawing/document made
by any method must also include a copy of this

This drawing/document is copyright and the property
of Prestolite Electric Ltd.  It must not be copied (in

COPYRIGHT

Prestolite Electric Ltd. - Heavy Duty Systems

12-16 Bristol Rd
Greenford
UB6 8UP
England

LINEAR ±   /     ANGULAR ±  /

C  Prestolite Electric Ltd. 2011

1 P0030 18-04-18

B.O.C. F175

/

/

JvZ

18 APR 2018
1:1

/

/

/

ALTERNATOR OUTLINE
24V 80A

Unit 48, The Metropolitan Park

NOTES:
1. N1 EQUIVALENT ALTERNATOR.
2. 24V / 80A, INSULATED RETURN.
3. FINISH: WHITE CORROSION PROTECTION.
4. VOLTAGE SET POINT = 28.5V ±0.3V.
    REGULATOR: 860914 
5. 2W WARNING LAMP. 
    OR LED AND 300 OHM, 5W RESISTOR
6. ROTATION: CLOCKWISE 
    (VIEWED FROM PULLEY END).
7. NO PULLEY SUPPLIED.
8. SHAFT SIZE = 17mm.
9. SHAFT NUT = M16 x 1.5.

      B-
(M6 x 1.0)

       B+
(M8 x 1.25)

      W
(M5 x 0.8)

     /

      D+
(M4 x 0.7)

REGULATOR
860914 (28.5V)

WIRING DIAGRAM

40

50

60

70

80

90

0

10

20

30

40

0 1000 2000 3000 4000 5000 6000

PERFORMANCE CURVE

OU
TP

UT
 (A

)

SPEED (RPM)

B+

W

B-

D+

TACHO
(REV COUNTER)

IG
NI

TI
ON

SW
IT

CH
2W

 B
UL

B

BATTERY

+ -


